Kolkata Airport

				RM Enterprises		кітсн	EN CARE	Jagnath Enterprises		
SR. NO.	Particulars	Unit	QTY	Rate	Amount	Rate	Amount	Rate	Amount	
1	Supply and Applying Black paint for Existing MS Partition	SQFT	600	44	26400	41	24600	45	27000	
2	Supply and Applying Black paint for Existing MS Rufter	SQFT	700	44	30800	41	28700	45	31500	
3	Supply and applying ceiling paints (Acrylic emoulsion paints) in Gents and Ledies toilet area	SQFT	500	50	25000	43	21500	45	22500	
4	Supply and applying wall paints (Acrylic emoulsion paints) in Kitchen outside wall	SQFT	600	50	30000	48	28800	45	27000	
5	Supply and fixing Vinyl PVC Flooring Work(Basic Cost - 95)	SQFT	500	188	94000	168	84000	175	87500	
6	Supply and Fixing of 2 ' x 1' wall tiles Make - Kajaria/ Somany Basic Code @85 with debris cleaning in toilet wall area	SQFT	500	255	127500	245	122500	250	125000	
7	Removing Existing Plaster , Debris cleaning from site	SQFT	500	40	20000	45	22500	50	25000	
8	Repaired of 2 ' x 1' wall tiles Make - Kajaria/ Somany Basic Code @85 with debris cleaning as per existing sample	SQFT	20	275	5500		5100	250	5000	
9	TOILET GRANITE GAURDWALL POLISH IN BASIN COUNTER	NOS	200	100	20000	109	21800	115	23000	
			Basic Amo	unt	379200		359500		373500	
			Discount @		0		17975		575500	
			Sub Total		379200		341525		373500	
			GST 18%		68256		61474.5		67230	
			Total Amou	Int	447456		403000		440730	

Capex Purchase

From:	KITCHEN CARE <kitchencare2010@gmail.com></kitchencare2010@gmail.com>
Sent:	13 February 2024 11:01
То:	Capex Purchase
Subject:	Re: Rate Confirmation for Maintanance work at Kolkata

CAUTION: This email originated from outside of the organization. Do not click links or open attachments unless you recognize the sender and know the content is safe.

Dear Sir,

Accepted.

Best Regards

S. Basak

Kitchen Care

Mob-9836818008/7980106235

On Tue, 13 Feb, 2024, 10:55 am Capex Purchase, <<u>capex.purchase@travelfoodservices.com</u>> wrote:

Dear Sir,

As you shared the quote for maintenance at Kolkata kindly confirm the discount of 5% your below rate.

KITCHEN CARE

Add- 32/1 New Cord Road, Athpur, North 24 Parganas, West Bengal-743128, Mob- 9836818008, Email- kitchencare2010@gmail.com

GSTIN - 19AORPB1730K3ZR

Date-21-12-

To,

Trave	l Food Services Kol	kata Pvt Ltd		2023	12		
		QUOTATION FOR REPAIRE WORK AT INTERNATIONAL U	PPER L	OUNGE			
Sl No.	AREA	Item Description	UOM	QNTY	Rate	Amount	Remarks
1	INTERNATIONAL UPPER LOUNGE	Supply and Applying Black paint for Existing MS Partition	SQFT	600	41	24600	Rust area Rust Remove & Paint
2	INTERNATIONAL UPPER LOUNGE	Supply and Applying Black paint for Existing MS Rufter	SQFT	700	41	28700	Rust area Rust Remove & Paint
3	INTERNATIONAL UPPER LOUNGE	Supply and applying ceiling paints (Acrylic emoulsion paints) in Gents and Ledies toilet area	SQFT	500	43	21500	Primer , Paint
4	INTERNATIONAL UPPER LOUNGE	Supply and applying wall paints (Acrylic emoulsion paints) in Kitchen outside wall	SQFT	600	48	28800	First Putti , Primer , Paint
5	INTERNATIONAL UPPER LOUNGE	Supply and fixing Vinyl PVC Flooring Work (Basic Cost - 95)	SQFT	500	168	84000	
6	INTERNATIONAL UPPER LOUNGE	Supply and Fixing of 2 ' x 1' wall tiles Make - Kajaria/ Somany Basic Code @85 with debris cleaning in toilet wall area	SQFT	500	245	122500	
7	INTERNATIONAL UPPER LOUNGE	Removing Existing Plaster , Debris cleaning from site	SQFT	500	45	22500	
8	INTERNATIONAL UPPER LOUNGE	Repaired of 2 ' x 1' wall tiles Make - Kajaria/ Somany Basic Code @85 with debris cleaning as per existing sample	SQFT	20	L/S	5100	
9	INTERNATIONAL UPPER LOUNGE	TOILET GRANITE GAURDWALL POLISH IN BASIN COUNTER	NOS	200	109	21800	
		TOTAL				359500	

Terms & Conditions

1. GST Whould Be Extra @18%

2. Payment Terms 70% Advance Along with work order

3. AEP Will be provided by client

Thanks & Regards

Pramod Singh

9769548806

9801387143

R.M. ENTERPRISE

Exclusive Interior Decorator 22/1H/9/3, Bright Street, Ground Floor, Kolkata - 700 017

Mobile -9903707201,903838850 Email-rmenterprisesoffical@gmail.com GSTIN-19ABLPI0471R1Z1 PAN-ABLPI0471R

Τo,

<u>Travel Food Service Kolkata Pvt. Ltd.</u> <u>NSCBI Airport, Dumdum, Kolkata .</u>

	1	ATION FOR REPAIRE WORK AT INTERNATIO	NAL UPPER			
SI	AREA	Item Description	UNIT	QTY	Rate	Amount
No.						
1	INTERNATIONAL	Supply and Applying Black paint for	SQFT	600	44	26400
	UPPER LOUNGE	Existing MS				
		Partition				
2	INTERNATIONAL	Supply and Applying Black paint for	SQFT	700	44	30800
	UPPER LOUNGE	Existing MS				
		Rufter	60FT	500		25000
3	INTERNATIONAL UPPER LOUNGE	Supply and applying ceiling paints (SQFT	500	50	25000
	UPPER LOUNGE	Acrylic emoulsion paints) in Gents and				
		Ledies toilet area	60FT			
4		Supply and applying wall paints (Acrylic	SQFT	600	50	30000
	UPPER LOUNGE	emoulsion paints) in Kitchen outside				
		wall				
5	INTERNATIONAL	Supply and fixing Vinyl PVC Flooring	SQFT	500	188	94000
	UPPER LOUNGE	Work (Basic Cost -				
		95)				
	INTERNATIONAL	Providing and Fixing of 2 ' x 1' wall				
6	UPPER LOUNGE	tiles Make - Kajaria/ Somany Basic	SQFT	500	255	127500
		Code @85 with debris				
		cleaning in toilet wall area	COFT	500	10	20000
7		Removing Existing Plaster , Debris	SQFT	500	40	20000
	UPPER LOUNGE	cleaning from				
	INTERNATIONAL	site Repaired of 2 ' x 1' wall tiles Make -				
	UPPER LOUNGE	Kajaria/ Somany Basic Code @85 with				
8	of the coonde	debris cleaning as	SQFT	20	275	5500
		per existing sample				
9	INTERNATIONAL	TOILET GRANITE GAURDWALL POLISH	SQFT	200	100	20000
5	UPPER LOUNGE	IN BASIN	50.1	200	100	20000
		COUNTER				
			Sub Total			379200
			Sub rotur			373200
			CGST			34128
			SGST			34128
				ΤΟΤΑ	L	447456
ACCOUNT	HOLDER: RM ENTE	RPRISES	FOUR LAK		SEVEN TH	
ACCOUNT		7165628			TY SIX ONL	
FSC :		0000593				
BRANCH :	PARKCI					
ACCOUNT						
Terms & Co			1			
		amount with work order				
-		Days Of Final Bill Submission				
		Id Be As Per Working Schedule				

3. Work Completion Period Should Be As Per Working Schedule.

Capex Purchase

From:	JAGANNATH ENTERPRISE <info.jagannathenterprise@gmail.com></info.jagannathenterprise@gmail.com>
Sent:	12 February 2024 19:50
То:	Capex Purchase
Subject:	Re: REPAIRE WORK AT INTERNATIONAL UPPER LOUNGE - Kolkata Airport

CAUTION: This email originated from outside of the organization. Do not click links or open attachments unless you recognize the sender and know the content is safe.

Hi Sir,

Please Find below rates.

	REPAIRE WORK AT INTERNATIONAL UPPER LOUNGE									
SI No.	AREA	Item Description	UOM	QNTY	Rate	Amount	Remarks			
1	INTERNATIONAL UPPER LOUNGE	Supply and Applying Black paint for Existing MS Partition	SQFT	600	45	27000				
2	INTERNATIONAL UPPER LOUNGE	Supply and Applying Black paint for Existing MS Rufter	SQFT	700	45	31500				

3	INTERNATIONAL UPPER LOUNGE	Supply and applying ceiling paints (Acrylic emoulsion paints) in Gents and Ladies toilet area	SQFT	500	45	22500	
4		Supply and applying wall paints (Acrylic emoulsion paints) in Kitchen outside wall	SQFT	600	45	27000	
5	INTERNATIONAL UPPER LOUNGE	Supply and fixing Vinyl PVC Flooring Work(Basic Cost - 95)	SQFT	500	175	87500	
6	UPPER LOUNGE	Supply and Fixing of 2 ' x 1' wall tiles Make - Kajaria/ Somany Basic Code @85 with debris cleaning in toilet wall area	SQFT	500	250	125000	

7	INTERNATIONAL UPPER LOUNGE	Removing Existing Plaster , Debris cleaning from site	SQFT	500	50	25000	
8		Repaired of 2 ' x 1' wall tiles Make - Kajaria/ Somany Basic Code @85 with debris cleaning as per existing sample	SQFT	20	250	5000	
9	-	TOILET GRANITE GAURDWALL POLISH IN BASIN COUNTER	NOS	200	115	23000	
		TOTAL				373500	

1. GST Extra

2.75% Advance

On Mon, Feb 12, 2024 at 5:23 PM Capex Purchase <<u>capex.purchase@travelfoodservices.com</u>> wrote:

Dear Sir,

Kindly share your rate for below work-

REPAIRE WORK AT INTERNATIONAL UPPER LOUNGE									
Sl No.	AREA	Item Description	UOM	QNTY	Rate	Amount	Remarks		
1	INTERNATIONAL UPPER LOUNGE	Supply and Applying Black paint for Existing MS Partition	SQFT	600					
2	INTERNATIONAL UPPER LOUNGE	Supply and Applying Black paint for Existing MS Rufter	SQFT	700					
3	INTERNATIONAL UPPER LOUNGE	Supply and applying ceiling paints (Acrylic emoulsion paints) in Gents and Ladies toilet area	SQFT	500					
4	INTERNATIONAL UPPER LOUNGE	Supply and applying wall paints (Acrylic emoulsion paints) in Kitchen outside wall	SQFT	600					
5	INTERNATIONAL UPPER LOUNGE	Supply and fixing Vinyl PVC Flooring Work (Basic Cost - 95)	SQFT	500					
6	INTERNATIONAL UPPER LOUNGE	Supply and Fixing of 2 ' x 1' wall tiles Make - Kajaria/ Somany Basic Code @85 with debris cleaning in toilet wall area	SQFT	500					
7	INTERNATIONAL UPPER LOUNGE	Removing Existing Plaster , Debris cleaning from site	SQFT	500					
8	INTERNATIONAL UPPER LOUNGE	Repaired of 2 ' x 1' wall tiles Make - Kajaria/ Somany Basic Code @85 with debris cleaning as per existing sample	SQFT	20					
9	INTERNATIONAL UPPER LOUNGE	TOILET GRANITE GAURDWALL POLISH IN BASIN COUNTER	NOS	200					
		TOTAL							

Thanks & Regards

Pramod Singh

9769548806

9801387143